Major Assessment Review Session Problems
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Major Assessment Review Session Problems

Fmd the derlvatlve of each of the following.

3\/Y—+2y\/ ‘5\/ ~2X =0 COSK — ZS'IV]ZY ZY - 0O .

1.y3 + y2 =5y —x* = —4 2.sinx +2cos(2y) =1
Y'; : Ax Y': - CoSK__

ENE> NS s+ xtuny ~4Sin2y

3.sinx = x(1 + tany) 4, x y3 =X
COSX = |+ Fany + XSeC yy Sxﬂ+x SJ‘J

‘: COg)("‘l—‘f'a_n\/ |
3 = |- JK

X sec” Y T

ey —1n(x)+sm3(\/3x— 5) /x3 - 3x? S 3

'\l
e ‘= L +o(smm)cusﬁ75_ 3
X 205

- ( C?Smﬁ;s‘cosﬁf-'s) i
¥ - \Lx 2V 3x

b Find He desivabive
&) X4 \3*‘#‘[ 1‘- 'ig I ") Smx + 2cosly = |
3 - ("’(}j -3 +th) =0 COSX- (ASLYAYE Zy = 0
‘g,ﬂ—wxy 8 - — Cosx
3 TIxc4Y - L[‘Sm?kj
5 Jcos X d) Y= Sin (-I-m x)
\/'—)\ - ”F SINK = CoSX
(8K - 'le\"')( -
\JT:;":— [+x™
c
dy 1 - \;i cos(tan ).
- . ¢ Y,
olr Qm .h’xl |'l‘)(,




ABCALC Applications of Derivatives Review Name:

0 1. Find the absolute extrema of the functi;:m and where thgy occur.
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b) (Callculaltc'r)f(x)—(Juc2 9x); over [—4, 8]
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Determine if MVT applies to the function. If it does, find the value of c guaranteed by the theorem. If it
does not, explain why.
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3. For f(x) = x* — 12x? — 13, find the following. also Qu »Ref < = -
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c) Find all points of inflection. Justify your response.
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d) Find the intervals that f(x) is concave up and concave down. Justify your response.
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4, Use the graph of f'(x) to the right to answer the following. £
Justify each response.

a) Whatis theslope of f(x) atx = 2?
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Note: Graph of f'(x) not f(x).

¢} Find the intervals where f(x) is increasing.
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d) Find the x-values where f (x} has a relative minimum/ma»'(imum.
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e} Is f(x) increasing or decreasing at x = 57
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f) Is f(x) concave up or concave down at x = 47
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5. Use the graph of f(x) below to answer the following
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b} Find all x- values where the slope of f(x) is zero.
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c} Find all x-values where the derivative of f(x) does not exist
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e} Findall coordlnates where f(x) has relative extrema.
f)  Find all x-values where f(x) has a point of inflection (approximate if necessary)
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g} Find the intervals where f{(x) is concave up and concave down {approximate if necessary}
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8. Use the information in the table about f(x) over [—3, 6] to answer the following questions.
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a) Find the peints of relative and absolute extrema for f(x). Justify your response.
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b) sketch a graph of f(x) on the axes below.
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